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 70  20,63  20,75  0,9 

 62  20,49  20,55  1,0 

 35  10,53  10,50  0,5 

 10  10,23  10,30  0,2 

 

  

  

 

 

 

 

 

Rs =((20,75-20,63)/20,63)*100 = 19,04% 

 

: 

Rs =((0,55-0,49)/0,49)*100 = 12,24% 

 

: 

Rs =((0,55-0,43)/0,43)*100 = 16,28% 

 

: 

Rs =((0,3-0,23)/0,23)*100 = 30,43% 

 

 

 

= 0,75 70000(0,9 + 0,55 62000 + 0,50 35000)0,50 + 0,3 10000)0,2 = 

62000 + 0,5 70000 + 0,3  

 

 



 

 142433,33   

 

 

= (21453,33/120980)*100% = 17,73% 

 

 

 = ((21453,33/(145000+20500))*100% = 12,96% 

 

:  

 

 

2. 

N1 = 15 

N N

 

: 

  

 

 

2. : 

 

 

 

 

2.  

  -  

 

1 = 389.68   

2 = 389.68   

3 = 389.68   

3.  

 

 

 

 = (69,68/320)*100% = 22% 

 = (39,68/350)*100% = 11% 

 = (4,68/385)*100% = 1,2% 

 



: 

  

  

 

 

   125 65 

 

  . 

 

 

1.  

-  

-50*0,25 = 37,5  

 

2.  

R ((125-100)/100))*100% = 25%, 

 

 

R ((65-50)/50))*100% = 30%, 

 

 

 

3.  

R ((125-95)/95))*100% = 32%, 

 

 

 

R ((65-37,5)/37,5))*100% = 73%, 

. 

 

4.  

R = R   R  

R = 32-25 = 7% 

R = 73-30 = 43%. 

:   

 43%. 

 

 

 

 



 

 

 

 

 

 
  

 

 7000 0,63 0,75 0,9 

 6200 0,49 0,55 1,0 

 3500 0,43 0,50 0,5 

 10000 0,23 0,30 0,2 

 

 

    

, Si - -  

- 0,63) / 0,63 * 100 = 19,05% 

- 0,49) / 0,49 * 100 = 12,24% 

- 0,43) / 0,43 * 100 = 16,28% 

- 0,23) / 0,23 * 100 = 30,43% 

 

/  

 = 0,63*7000/0,9 + 0,49*6200 + 0,43*3500/0,5 + 0,23*10000  

 

 

 
    

   

  

 

 = 27743,33 -  

 

 
    

   

 = 5295,33/22448*100 = 23,59% 

5.  

 

 

 3,20%,  12,24%, 

  30,43%. 

 



  

 

 

  

   

 15 350 17 400 

 5 650 6 440 

 950 1 005 

 16 760 17 050 

 6 300 4 250 

 

: 

1.  

 : 5 650 / 15 350 * 100 = 36,8% 

 :6 440 / 17 400 * 100 = 37,0% 

 36,8 = 0,2%. 

 

2.  

 : 950/16760 * 100 = 5,7% 

 : 1005 /17050 * 100 = 5,9% 

 5,7 = 0,2%. 

 

3.  

 : 950 / 6300 * 100 = 15,1% 

 : 1005 / 4250 * 100 = 23,6% 

 15,1 = 8,5%. 
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: 

1  

 http://kodeksy.com.ua/buh/ psbo/2.htm. 

2  

  

http://kodeksy.com.ua/buh/psbo/3.htm. 

3  

 http://kodeksy.com.ua/buh/psbo/15.htm. 

4  

  http://kodeksy.com.ua/buh/psbo/17.htm. 
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